log AY/Y)

log (Y/AY)

LABJNDu? triangle lightnesst*
Ync YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, )
t(3,6)=26L1* ,(18)=503 *(90)=924

10g[t*/t* =0, m,=0,33
L* =49, t* =592

t* =92 3,60, Ay
t*1575¢3,26 Am-()
13,62 50,92 tA;=5¢

LABJINDu7
tristimulus value difference

Yac=Yw - nc=100,

L ABaNDU7=[IN[(A 10+A2RY)V(A 20A 0n)] (Yad/100<Y<=Y0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aonpes=L5, Aon a=1,0, see CIE 230:2019

dYg5=0,45, Ay=1,000, ¢=0,84

dY;=0.10, A1=0.014, Agn 0,0048

dY36=0,03 Y,=18, dY=0,15 .

o
.
1*,=593 dY,=0,10 dY,/',=0 J056 (&

 Too@R0 i men s e oy

1 application
1 range

1y,=18
Yw=90

LABJINDu7
_ tristimulus value sensitivity
S=@vr) Yoc=Yw - ne=100,
L aBINDU7=IINI(A 1A I(A 2nA0n)] (Yo 100<Y<=Y,0)
AY/Y=Age[A 1 +A LYY
(dY/Y}=0,0050, A,=1,000, ¢=0,84

(dY/Y)g=0.6056. A=0,014, A, =0,0048
(dY/Y}6=0,2088 Y, =15, i 1,=0,10

~
~ application
log(dY/Y)y--2,24 m;=-0.134 5 o = rfr?g'e '
A | .

t*,=593 dY,=0,1Q dY,/Y,=0,00561

1
1Y,=18
Yn=3.6  Yyu=90

LABJINDu7
tristimulus value contrast

Yoc=Yw - nc=100,
tLagaNDu7=[IN[(A 10+ A2nV)I/(A 20A0n)] (Yac/100Y<=Yso)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}=198,78, A,=1,000, ¢=0,84
(Y/dY)g=176,51, An=0,014, A,=0,0048
(YIdY} 113,13 Y, =18, dY=0,10

*,=593 dY,;=0,1Q Y, /dY, 176

C,=(Y/AY)

application
range

'y,=18
1Yy=90

Iog(AY/AY )

LABJINDuU? relative triangle lightnesst*/t*,,
t/t* u Ync‘YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20An)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=26Lt* ,(18)=593 */(90)=924

Ut =185, Ax=1.000. 6=0,84

{29 =100, Ar=0,014, £,=0,0048

3 gt*(=0,43 ,t,=593,26 Y1

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
IM\=86 Yyw=90

LABJNDuU7 relative

tristimulus value difference
D7 Yoc=Yw - nc=100,
t*Laganpu7=IN[A 10+A2nV)I(A 20A0n)] (Yno/100<Y<=Y, )
AY/dY,=AgnA 1n+AanYI/dY,
dYeo/dY,=4,43, A=1,000, ¢=0,8
d =0,

Y, g/dY, =0,014, ! 04
deQdY 031\‘?1 =18, dY= gz

>
>
t*,=593 dY,=0. 10 dy, /! 1u—0 ./056 >

log [AYY) I (AYIY),]

LABJNDuUY relative

tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY

t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIYYAYY,=(Ag it Ag Y)Y EYIYY]
(AdY/YVpg/(dYY)~2,92 A,=1,000, G=0,

84
(YY) G/(dY/Y 51,00, A r=0,014, Ay,=0,0048
(dwvid(dv/v =1,22 V218 dy=0.10

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
t+,=503 dY,=0.1Q dY,/Y,=0,0056 |
1y,=18

application
range

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJNDU7 relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us value contrast

=100,

t*LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(YVIAYY(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,84

(Y/dY}/(Y/dY)=1.00, Ar=0.014. A, =0,0048
(Y/dY%vd(Y/dY =0,64 Y,~18, d\=0.10

application
range

1y,=18

Yy=90




